Call - #R)

1 FHAEEFEHTRR ($H553831BRE)
(1) —me=st
(HEh-JAH)
% A % H
B B FEBRLE A|UAFEEE B)| B)/(A) (%) |HERLLE (%) ® = FEIRLE (O)|XZHFEE (D)| (D)/(C) (%) | #ERLEE (%)
1 ™ 5] 6,186 6,333 102.4 25| 1 & = & 201 197 98.0 1.1
2 i H E 5 208 206 99.0 11 2 # % & 2,163 1,530 70.7 8.3
3 M F A X M &£ 2 2 100.0 00| 3 R & & 6,994 6,289 89.9 34.1
4 B OB B X F £ 33 25 75.8 01| 4 #& = & 2,682 2,042 76.1 1.1
5 HBAFREMBIXRMGE 29 20 69.0 01|[5 BEM K E X & 883 669 75.8 3.6
6 EABTEBRIMTE 105 101 96.2 05(| 6 ™ T & 718 600 83.6 33
THAHEHEBRIMTE 987 1,020 103.3 521 7 £ PN -y 2,060 1,312 63.7 7.1
8 JIJEMAHRRME 7 5 714 00| 8 M 3] & 800 738 92.3 4.0
9 B I M B XM 18 18 100.0 01| 9 % ] & 2,232 1,581 70.8 8.6
10H# 5 % 6 X F € 37 37 100.0 02|10 K & & B & 0 0 0.0 0.0
"M B XX fF 3,440 3,525 1025 181 (11 & & & 2,188 2,185 99.9 119
12 RBREXEKFANRTE 3 3 100.0 00[|12 38 X H £ 1,280 1,274 99.5 6.9
BHRaEesrvalEE 25 21 84.0 01|13 % fis & 16 0 0.0 0.0
14 #F ARV F HH 401 378 94.3 2.0
BE E X #H =% 3,972 3417 86.0 17.6
16 & b2 H & 1,346 442 328 23
17 Bf E IR A 390 159 40.8 0.8
18 & Ff & 110 104 94.5 05
19 # A & 180 153 85.0 0.8
20 #% i & 1,387 1,387 100.0 7.1
21 & I A 1,562 1,509 96.6 7.8
22 & 1,789 605 338 3.1
m A & & 22217 19,470 87.6 100.0 m H & F 22,217 18,417 82.9 100.0

% BHFEST)




(2) THDRARSR

(3) Al=Ft

(Bfr-BaBm[) (Bfi-BBA)
# H FHIRLE IRAEEE | R %) 2 & & |FHEZE E|WRAFZZE P(XZLEEE (G) F/E) @ | (G)/E) %)
T RO 2,460 2,526 39.9 EREEEREE 4,321 3,844 3,816 89.0 88.3
2 B EEE M 3,024 3,099 48.9 KB #Z &R 7 3 4 42.9 57.1
3EH B EHR 146 147 2.3 TERKRER 4,401 4,353 3,999 98.9 90.9
I T = G 373 377 6.0 BHYEEhEER 593 581 518 98.0 87.4
5 A m W 15 16 0.3 a &t 9,322 8,781 8,337 94.2 89.4
6 # T F ® f 168 168 2.6 x BHFESD)
a & (1~6) 6,186 6,333 100.0
REmRKEH 695 702 100.0




(4) DELRIFE

© FHAFEEDORHE(RRA)KR (B EAM) O FHAFEDEENRR (Ef-EHA)
E 4 roawg | | mmwe | TNR| E % rawg | L B mmwe | TR
E OF I # 1,131 148 2,924 96 4,299 E OEXE N O# 1,029 135 2,909 88 4,161
Wle 2 s oag 2 114 11 1,043 369 1,537 Wle = o an 2 114 11 1,036 360 1,521
A E B F &® 0 0 5 0 5 |ig |2 OB M & 0 0 5 0 5
" Hi 1,245 159 3972 465 5,841 i ) 1,143 146 3,950 448 5,687
E %X & H 1,118 187 3,698 485 5,488 L E X &2 H 1,068 176 3,612 477 5,333
H1X e 2 5 5 A 84 9 69 50 212 |5t |E |2 24 8 A 51 6 177 51 285
W Bl 8| K 0 0 2 0 2l |m|R|W_B 8B X 0 0 2 0 2
&t 1,202 196 3,769 535 5,702 - it B 1,119 182 3,791 528 5,620
i E 3 & 116 0 0 124 240| |7
E-RB@HEBBE 0 0 22 64 86 LEAMFIZE (A)—(B) 24 A 36 159 A 80 67
b £ a8 H#E2 4 0 0 16 20
7 —REHES 7 0 0 202 209 =B B B E 11,186 604 5,867 8,689 26,346
Al SRS 0 0 125 0 125 é OB & OE 962 255 1,547 196 2,960
o it 0 0 5 0 5| | g?sff;: E OB OE 0 0 0 0 0
¥ Hi 127 0 152 406 685| |4z 5 12,148 859 7,414 8,885 29,306
BEH W R EBE 211 0 268 194 673 o | g B T & & 5,891 248 3,269 2,799 12,207
T EXEREESR 430 27 242 240 939 R B & & 516 33 534 254 1,337
bl |[THEARES 0 0 0 0 of |® R E W @ 1261 138 1713 4,803 7,915
z D ftt 0 0 11 0 I EAE S x £ 3,626 488 3,027 956 8,097
H é.'% Z ® Kiid 854 A48 A 1,129 73 A 250
) 641 27 521 434 1,623 H 12,148 859 7,414 8,885 29,306




SAAEEOTHHMITRE

(BEf-BahmH)

X % roawg | | mmwe | TXR|
FHEBREE © 1,252 155 3,935 469 5811
1R = HoE E D 1,245 159 3,972 465 5,841
A ITER(D)/(C) (%) 99.4 102.6 100.9 99.1 100.5
= FPEHEHE ©® 1,282 220 3,821 550 5,873
:9] * XHFE P 1,202 196 3,769 535 5,702
§ BATEF)/(E) %) 93.8 89.1 98.6 97.3 97.1
FERE @ 374 0 381 405 1,160
& = hOE E K 127 0 152 406 685
A BAITERMH)/(G) %) 34.0 0.0 39.9 100.2 59.1
* FEHEE () 845 27 521 461 1,854
;9] * XHEHE ) 641 27 521 434 1,623
§ BATEW)/D ) 75.9 100.0 100.0 94.1 87.5




